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Open the GSS.sav file from the CD in the Norusis book (get the file from your instructor if you 

are missing the CD). 

 

 

 
 

Go to ANALYZE  COMPARE 

MEANS  MEANS 

 

  

 
 

Choose RINCDOL as the dependent 

variable and DEGREE as the 

independent variable.  Choose OK. 
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You now have the output needed for part 

“a”. 

 

  

 

Now go to ANALYZE  COMPARE 

MEANS  ONE-WAY ANOVA 

  

  

Choose RINCDOL as the dependent 

variable and DEGREE as the factor.  

Choose the POST HOC button. 
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Choose the BONFERRONI option and 

CONTINUE and OK. 

 

NOTE: Any of the Post Hoc tests will 

work, and you may have a favorite, but 

for now, choose Bonferroni so as to 

match the professor’s solutions. 

 

 

 

  

 
 

 

Now you have what you need to solve the 

rest of the problem.   

 

ANOVA assumes independent random 

samples from each population, normally 

distributed populations and equality of 

variance. Here is the first part of the 

ANOVA output. The null hypothesis being 

tested is that the average income is the 

same for all degree groups. With a Sig. 

Value of .000 which is less than .05, we can 

reject the null hypothesis and conclude that 

there is a difference in the average income 

across the education levels. Since we 

rejected the null, we need to conduct a Post 

Hoc test to determine the specific 

differences.  

 

In the Post Hoc test, the MEAN 

DIFFERENCE column has values with an 

asterisk to indicate significant differences 

(i.e., sig. values less than .05). The LESS 

THAN HS means are significantly less than 

all other means. The GRADUATE mean is 

significantly larger than all other means. 

And the HIGH SCHOOL mean is 

significantly less than the BACHELORS 

mean. In fact, with minimal exception, the 

higher degrees earn significantly higher 

incomes than the degrees below. So to 

answer part d, staying in school does 

appear to “pay off.”  

 


